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PART 7: Questions and Answers.

63a)
*Cheannaich Iain leabhar do Anna an-dè.

buy.past John book for Anna.dat yesterday

“John bought a book for Anna yesterday.”

Note: Consultant corrected to 63b

63b)
Cheannaich Iain leabhar do dh’Anna an-dè.

buy.past John book for Anna.dat yesterday

“John bought a book for Anna yesterday.”

64a)
[An do cheannaich] Iain leabhar do Anna an-dè?

inter past buy John book for Anna.dat yesterday

“Did John buy a book for Anna yesterday?”

Note: Consultant corrected to 64b

64b)
[An do cheannaich] Iain leabhar do dh’Anna an-dè?

inter past buy John book for Anna.dat yesterday

“Did John buy a book for Anna yesterday?”

Note: Question to which the answer is statement in 63b.

65)
Cheannaich.

buy.past

“Yes/He bought it.”

Note: Shortened form of 63 to answer 64 without redundancy.

66a)
*Cò cheannaich leabhar do Anna an-dè?

who buy.past book for Anna.dat yesterday

“Who bought a book for Anna yesterday?”

Note: Consultant corrected to 66b

66b)
Cò cheannaich leabhar do dh’Anna an-dè?

who buy.past book for Anna.dat yesterday

“Who bought a book for Anna yesterday?”

Note: Like 64.

67)
(Cheannaich) Iain.

buy.past John

“John did/bought it.”

Note: Like 65.

68)
Dè cheannaich Iain do Anna an-dè?

what buy.past John for Anna.dat yesterday

“What did John buy for Anna yesterday?”

Note: Like 64; marked as correct by consultant, but inconsistent with other judgements regarding do Anna

69)
(Cheannaich) leabhar.

buy.past book

“(He bought) a book.”

Note: Like 65.

70)
Cò dha cheannaich Iain leabhar an-dè?

who for.3ms buy.past John book yesterday

“For whom did John buy a book yesterday?

Like 64.

71)
*(Cheannaich) do Anna.

buy.past for Anna.dat

“(He bought it) for Anna.”

Note: Consultant corrected to 71b

71)
(Cheannaich) do dh’Anna.

buy.past for Anna.dat

“(He bought it) for Anna.”

Note: Like 65.

72)
Cuin a cheannaich Iain leabhar do Anna?

when wh-C buy.past John book for Anna.dat

“When did John buy a book for Anna?”

Note: Like 64; marked as correct by consultant, but inconsistent with other judgements regarding do Anna

73)
(Cheannaich) an-dè.

buy.past yesterday

“(He bought it) yesterday.”

Note: Like 65.

84)
[An robh] am balach anns an sgoil?

Q be.dep the boy in the school.dat

“Was the boy in the school?”

Note: An example of an interrogative positive sentence, maked by the the particle “an,” which comes in the sentence-initial position, and the dependent form of the verb.

85)
[An ceannaich] Iain an leabhar?

Q buy.dep John the book

“Will John buy the book?”

Note: Same as 84.

86)
Cheannaich cò an leabhar?

buy.past who the book

“Who bought the book?”

Note: Echo Question. It is less common than its English counterpart.

87)
Cheannaich Iain dè?

buy.past John what

“John bought what?”

Note: Echo Question

88)
Bha an leabhar aig cò?

be.past the book at who

“Who had the book?”

Note: Echo Question

89)
Rinn Iain dè?

do.past John what

“John did what?”

Note: See 86. In this case the complement of the verb is the element being questioned.

90)
Cheannaich e leabhar.

buy.past 3ms book

“He bought a book.”

Note: Answer to 89.

91)
?Rinn e leabhar a cheannach.

do.past 3sm book tran buy.vn

“He bought a book.” [Lit. “He did/made the buying of a book.”]

Note: Alternative answer to 89; consultant found questionable

92)
Cò a bha anns an sgoil?

who wh-C be.past in the school.dat

“Who was in the school?”

Note: A basic wh-C interrogative sentence. In such sentences, the wh-C element usually leads, followed by the relative pronoun “a” (here translated “wh-C” to indicate its being part of the wh-C phrase) and, where applicable, followed by the relative form of the verb. (The relative form only survives in the future tense, however)


93)
Dè a cheannaich Iain?

what wh-C buy.past John

“What did John buy?”

Note: See 92.

94a)
Càite an robh Iain?

where inter be.past.dep John

“Where was John?”

Note: “Càite” is the only wh-C which takes the dependent form of the verb; an robh cannot be omitted.

95)
Cuin a cheannaich Iain an leabhar?

when wh-C buy.past John the book

“When did John buy the book?”

Note: See 92.

96)
Cò dha a bhitheas Iain a’ toirt an leabhair?

who to.3sm wh-C be.rel John at give.vn the book.gen

“To whom will John be giving the book?”

Note: Here the entire prepositional phrase which is the indirect object complement is questioned. Compare 97.

97)
Cò do [am bith] Iain a’ toirt an leabhair?

who to inter be.fut John at give.vn the book.gen

 “To whom will John be giving the book?”

Note: Here the nominal within the prepositional phrase is questioned; compare 96.

98)
Cò a bhitheas Iain a’ toirt an leabhair dha?

who wh-C be.rel John at give.vn the book.gen to.3sm

“Who will John be giving the book to?”

Note: Another form of the question expressed in 96 and 97.

99)
An e am balach a bha anns an sgoil?

cop.inter 3sm the boy wh-C be.past in the school.dat

“Is it the boy who was in the school?”

Note: Question version of a topicalized sentence (101.) Compare to 92; this expresses the same question as 92 but with the lexical slot being questioned still filled, whereas in 92 it is empty. 

100)
An anns an sgoil a bha am balach?

cop.inter in the school.dat wh-C be.past the boy

 “Is it in the school that the boy was?”

Note: Question version of a topicalized sentence (102)


101)
Is e am balach a bha anns an sgoil.

cop 3sm the boy wh-C be.past in the school.dat

“It is the boy who was in the school.”

Note: The sentence questioned by 99.

102)
Is ann anns an sgoil a bha am balach.

cop in.3sm in the school.dat wh-C be.past the boy

“It is in the school that the boy was.”

Note: The sentence questioned by 100.

103)
Tha am balach anns an sgoil, nach eil?

be the boy in the school.dat neg.inter be.dep

“The boy is in the school, isn’t he?”

Note: The first of two types of tag questions—the type with reversed polarity, which expects agreement with the proposition of the initial sentence.

104)
Is e am balach a tha anns an sgoil, nach e?

cop 3sm the boy wh-C be in the school.dat cop.neg.inter 3sm

“It is the boy who is in school, isn’t it?”

Note: Another example of a reversed polarity tag question, this time using “is” instead of “tha.”

105a)
*[chan eil] am balach a tha anns an sgoil, [am bheil]?

neg be.dep the boy wh-C be in the school.dat inter be.dep

“The boy isn’t in the school, is he?”

Note: Like 103; Consultant corrected to 105b.

105a)
*[chan eil] am balach anns an sgoil, [am bheil]?

neg be.dep the boy wh-C be in the school.dat inter be.dep

“The boy isn’t in the school, is he?”

Note: Like 103.

106)
Chan e am balach a tha anns an sgoil, an e?

cop.neg 3sm the boy wh-C be in the school.dat cop.inter 3sm

“It isn’t the boy who is in the school, is it?”

Note: Like 104.

107)
Tha am balach anns an sgoil, am bheil?

be the boy in the school.dat inter be.dep

“The boy is in the school, is he?”

Note: Example of a tag question of similar polarity, which allows for the possibility of disagreement with the initial sentence’ proposition.

(positive statement, can use both tags; negative statement, only positive tag)

108a)
*Chan eil am balach anns an sgoil, nach eil? (bad)
neg be.dep the boy in the school.dat neg.inter be.dep

“The boy isn’t in the school, isn’t he?”

Note: Consultant corrected to 108b.

108b)
Chan eil am balach anns an sgoil, a bheil?

neg be.dep the boy in the school.dat neg.inter be.dep

“The boy isn’t in the school, isn’t he?”

Note: Consultant corrected to 108b.

111)
Chan e am balach a chaidh do ‘n sgoil.

cop.neg 3sm the boy wh-C go.past to the school

“It was not the boy who went to the school.”

Note: Showing that the same topicalizing devices used for questioning specific elements of a sentence can also be used to negate specific elements.

112)
Chan ann do ‘n sgoil a chaidh am balach.

cop.neg in.3sm to the school wh-C go.past the boy

“It was not to the school that the boy went.”

Note: See 111.

113a)
Nach deachaidh am balach do ‘n sgoil?
neg.inter go.dep the boy to the school

“Didn’t the boy go to the school?”

Note: Demonstrating the use of the negative particle “nach” in negative questions.
Note: Consultant viewed this as archaic; suggested 113b.
113b)
Nach deach am balach dhan sgoil?
neg.inter go the boy to the school

“Didn’t the boy go to the school?”

Note: Demonstrating the use of the negative particle “nach” in negative questions.
114a)
Nach e am balach nach deachaidh do ‘n sgoil? 
neg.inter 3sm the boy wh-C.neg go.dep to the school

“Isn’t it the boy who didn’t go to the school?”

Note: Demonstrating the use of “nach” in both a negative question and a finite dependent clause.

Note: Consultant viewed this as archaic; suggested 114b.
114b)
Nach e am balach nach deachaidh do ‘n sgoil? 
neg.inter 3sm the boy wh-C.neg go.dep to the school

“Isn’t it the boy who didn’t go to the school?”

Note: Demonstrating the use of “nach” in both a negative question and a finite dependent clause.

